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Problem 1  (5 points) 
Consider the short IBM floating point format 
 
 
 
 
 
 
 
 
 
 
 
 
 
What is the range of normalized positive numbers that could be represented using that 
format? 
 
 
 
 
 
 
 
 
 
 
 
 
What if the mantissa is in binary with the implied binary point? 
 
 
 

 Characteristic 
excess 64 

Unsigned mantissa 

24 bits 7 bits 

β=16 

Implied hex point 



 

Problem 2 (5 points) 
What are the steps in adding 2 floating point numbers? 



 

Problem 3 (5 points) 
Show how to use N/2xN2/2 multipliers to implement an NxN multiplier 
 


